PROMOTIONAL COMPETITION

Particulars

This table sets out the particulars of the promotion described below.

Name of promotional competition (Promotion)	COMEBACK Melbourne Great Giveaway			
Promoter	Nationwide News Pty Ltd ABN: 98 008 438 828			
State permits/authorisations	No permit required			
Eligible entrants must be residents of	Victoria			
Promotional period starts	12:00am Sunday 14 November 2021 (AEDT)			
Promotional period ends	11:59pm Thursday 16 December (AEDT)			
Eligible entrants	Must be residents of Victoria aged 18 and over.			
Limit on number of entries which can be made by any one person	One entry per day, per prize as per the schedule described in the prize table below.			
Entry process	To enter follow the instructions and complete the form including full name, postal address postcode and email address set out at: <u>https://www.heraldsun.com.au/news/unmissable-reader-</u> <u>competition-comeback-melbourne-great-giveaway/news-</u> <u>story/0577182cd78e7799ff595cf7e5e7d198</u>			
	Entrants may enter once per day, each day of competition live date described in the table below.			
Prizes	Prizing description, values, number of prizes, and entry live dates are described in the table below. Total prize pool is valued at \$52,160.00 (RRP).			
Prize draw will take place	At 9:00am AEDT the day after prize entry live date as described in the table below at News Corp Australia, Cnr Mayne Road & Campbell Street Bowen Hills QLD 4006			
Unclaimed prizing	Prizes will be forfeited if not claimed within 7 days of receiving prize from provider.			
Publication of each winner's name and suburb	On <u>https://www.heraldsun.com.au/news/unmissable-reader-</u> competition-comeback-melbourne-great-giveaway/news- story/0577182cd78e7799ff595cf7e5e7d198			
Additional special terms	Winners will be notified via email from a representative of the Promoter before COB the day the prize is drawn, confirming prize won and advising who the prize provider is who will distribute prizing. Winner details will be provided to prize provider for distribution of prizing.			

	Prizes						
Prize entry live date	Date of Prize Draw	Prize Name	Daily Prize Pool Description	Prize specific T&Cs Note that for all prizes that include attendance at an event - Attendees must be fully COVID-19 Vaccinated and provide printed or digital copy of vaccination certificate and meet the venue operator's other requirements in this regard.	Prize Value	Number of Prizes	Daily Prize Pool Value
14/11/21 12:00am- 11:59pm AEDT	15/11/21 9:00am AEDT	\$100 Australian Venue Co Voucher	50 x \$100 Australian Venue Co in app Vouchers	Gift Vouchers provided as Unique Code for in-app redemption. Winners will be required to download the AVC app and follow prompts to load the voucher amount. Winners will then need to order their meals via the app in venue. All instructions will be provided at fulfilment Gift Vouchers are valid for 36 months from date of purchase AVC vouchers can be used to redeem food & beverage	\$100.00	50	\$5,000

				Please note, vouchers of \$200 value or more, will require customers to provide a valid driver's licence or photo ID at the point of redemption This voucher is not redeemable for cash, voucher may not be returned and will not be replaced if lost or stolen Part voucher refunds can be issued at the discretion of venue management for vouchers with a minimum balance of \$50			
16/11/21 12:00am- 11:59pm AEDT	17/11/21 9:00am AEDT	O'Brien Icehouse Family Pass	50 x Family Passes to the O'Brien Icehouse	Family pass includes 2 adults, 2 children (Under 8) and includes skate hire. Valid until 18th December 2022	\$82.00	50	\$4,100.00
18/11/21 12:00am- 11:59pm AEDT	19/11/21 9:00am AEDT	Herald Sun Zipping Classic, Zipping Classic Day - Saturday 27 November.	50 x Double passes to the Herald Sun Zipping Classic, Zipping Classic Day - Saturday 27 November.	Please refer to Melbourne Racing Club's standard terms: <u>https://mrc.racing.com/our-</u> <u>club/governance/terms-and-</u> <u>conditions/conditions-of-attendance</u>	\$50.00	50	\$2,500.00
21/11/21 12:00am- 11:59pm AEDT	22/11/21 9:00am AEDT	ACMI Disney: The Magic of Animation Exhibition Family Pass	50 x Family Passes to ACMI Disney: The Magic of Animation Exhibition	The family pass includes 5 tickets, to be used on groups of five with a least one child. 4-15 years old are considered children. Under 4 years old are free. ACMI Disney: The Magic of Animation Exhibition is on show until 23 Jan 2022	\$72.00	50	\$3,600.00
23/11/21 12:00am- 11:59pm AEDT	24/11/21 9:00am AEDT	Tickets to New Year's Eve at The Valley for you and 3 friends	25 x Tickets for you and 3 friends to Friday Night Lights at The Valley on New Year's Eve	Tickets per prize = 4. Ticketing is for 31st Dec only is non-refundable for cash and cannot be exchanged for another race meet. See full standard terms at: <u>https://www.thevalley.com.au/terms-and-</u> conditions	\$40.00	25	\$1,000.00
25/11/21 12:00am- 11:59pm AEDT	26/11/21 9:00am AEDT	Pasted and Wasted: Melbourne Music Poster Exhibition Double Pass	50 x double pass to the Pasted and Wasted: Melbourne Music Poster Exhibition	Ticketing date range is each Friday – Sunday from 26th November to 31st December 2021 exl Xmas Day. Time: Opening Hours: All days are 11am to 5pm, except on the opening weekend, the Friday 26 Nov and Saturday 27 Nov will be 11am to 9pm. Location: District X, SE F06/F06A Level 1 Wharf Street, The District Docklands, Docklands Victoria 3008 Other: All patrons must be fully vaccinated for COVID-19	\$20.00	50	\$1,000
28/11/21 12:00am- 11:59pm AEDT	29/11/21 9:00am AEDT	Vision Australia Carols By Candlelight Family Pass	20 x Family Passes to Vision Australia Carols By Candlelight	What: Family pass (2 adults, 2 children under 16 years). Children under the age of 2 years may be admitted at no cost and without a ticket, on the lap of a parent or guardian. Family passes are to the General Admission Lawn at the Sidney Myer Music Bowl this Christmas Where: Art Centre Melbourne's Sidney Myer Music Bowl. When: Friday 24 December, 4:00 PM onwards	\$178.00	20	\$3,560
30/11/21 12:00am- 11:59pm AEDT	01/12/21 9:00am AEDT	Van Gogh at THE LUME Double Pass	50 x Double passes to Van Gogh at THE LUME	No Age Restrictions. For use in sessions prior to December 18 Can be used for any session, other than School Holidays and Public Holidays.	\$98.00	50	\$4,900
02/12/21 12:00am- 11:59pm AEDT	03/12/21 9:00am AEDT	2022 NAB AFL Women's Competition match double pass	50 x Double Passes to a 2022 NAB AFL Women's Competition match	Double pass to a 2022 NAB AFL Women's Competition match. Selection of game date will be at the discretion of the AFLW team and will be between January 6 – 9, 2022. Tickets are strictly non-transferable or exchangeable and cannot be redeemed for cash.	\$20.00	50	\$1,000.00
05/12/21 12:00am- 11:59pm AEDT	06/12/21 9:00am AEDT	BBL Melbourne home game double pass	25 x Double passes to a 2022 BBL Melbourne home game	Double pass General Admission ticketing to a BBL Melbourne home game. Selection of game date will be at the discretion of the BBL team and will be between Tuesday 07 December 2021 - Wednesday 19 January 2022. Tickets are strictly non-transferable or exchangeable and cannot be redeemed for cash.	\$50.00	25	\$1,250
07/12/21 12:00am- 11:59pm AEDT	08/12/21 9:00am AEDT	Treasures of the Natural World at Melbourne Museum Family Pass	50 x Family Passes to Treasures of the Natural World at	A family is classified as 2 adults and 2 children or 1 adult and 3 children, where the children are aged between 3–16 years. And tickets are available for use up to 16th Januray (when the exhibition closes) and will be for timed entry as set by the Museum.	\$65.00	50	\$3,250.00

			Melbourne	Full ticketing terms can be seen here:			
			Museum	https://museumsvictoria.com.au/legals/ticketing-			
				terms-and-conditions/			
09/12/21 12:00am- 11:59pm AEDT	10/12/21 9:00am AEDT	Jagged Little Pill The Musical Double Pass	50 x DOUBLE PASSES to JAGGED LITTLE PILL THE MUSICAL at the Comedy Theatre Melbourne	Limited to Tue 7pm, Wed 7:30pm, Thu 7:30pm, Sun 6pm for performances from 11 January – 6 Feb. Tickets are strictly non-transferable or exchangeable and cannot be redeemed for cash. Tickets are valid only for the performance date and time printed on the ticket and all transactions are final. Offer cannot be applied to previously purchased tickets or used in conjunction with any other offer. Winner to select from Two desired performance dates and times in order of preference and selection of session will be at the discretion of the jagged little pill team	\$330.00	50	\$16,500.00
12/12/21 12:00am- 11:59pm AEDT	13/12/21 9:00am AEDT	National Gallery of Victoria Gabrielle Chanel. Fashion Manifesto Double Pass	50 x Double Passes to National Gallery of Victoria Gabrielle Chanel. Fashion Manifesto 2021/22	Tickets not redeemable for cash and not transferable. Must be redeemed prior to 25 April, 2022.	\$60.00	50	\$3,000.00
14/12/21 12:00am- 11:59pm AEDT	15/12/21 9:00am AEDT	Australian Open double pass to a week one session!	25 x Double Passes to an Australian Open Tickets week 1 session	Each prize ticket includes: Double Ground Area Pass during week 1 to a day session at the Australian Open in Melbourne 2022. Selection of ticket date and session will be at the discretion of the Aus Open team and will be between 17-22 Jan 2022. Tickets are strictly non-transferable or exchangeable and cannot be redeemed for cash.	\$98.00	25	\$2,450.00
16/12/21 12:00am- 11:59pm AEDT	17/12/21 9:00am AEDT	Australian Sports Museum Family Pass	50 x Family Passes to Australian Sports Museum	Visitors are welcome to access the Australian Sports Museum any time from 10.00am. The last entry is at 4.00pm. Please see the website for opening hours when the MCG is hosting an event and the Australian Sports Museum is not accessible. Family ticket is valid for 2 adults and 2 children only (Child age is 5 – 15 years old). Cannot be used in conjunction with other offers. Tickets valid until 14/11/2022	\$75.00	50	\$3,750.00
TOTAL PRIZE	POOL					•	\$52,160.00

Terms and conditions

- 1. These terms and conditions are the terms and conditions of the Promotion described above.
- 2. The above Particulars and information on how to enter and prizes form part of these conditions. These terms and conditions may be amended from time to time in accordance with state regulations.
- 3. Except where advertised differently, entry is only open to residents as described in the Particulars who are aged 18 or over. Promoter's employees, associated companies and agencies, and their immediate families are ineligible. Eligibility requirements must be met at the time of entry and at the time of determining prize winners.
- 4. Entry will only be accepted during the Promotional Period which starts and ends as specified in the Particulars (Promotional Period). Each valid entry received will go into the draw for the prize that relates to the prize entry live date for the date the entry is received by the Promoter. For the sake of clarification, each valid entry will only go into one prize draw.
- 5. Incomplete or incomprehensible entries will be invalid.
- 6. Except where stated otherwise in the Particulars, entries are limited to one per person, per prize.
- 7. Promoter accepts no responsibility for late, lost or misdirected entries. All entries are deemed to be received at the time of receipt by the Promoter and not at the time of sending by the entrant.
- 8. Prizes cannot be transferred or exchanged for cash. No responsibility or liability is accepted for any variation in the value of the prize/s. If a prize is unavailable then, subject to state regulation, Promoter

may substitute a prize with a different item of equal or greater value. Prizes may be subject to additional terms and conditions of the supplier of that prize.

- 9. To the extent permitted by law, no responsibility is accepted by Promoter for any loss, damage, or injury incurred from entering the Promotion or taking up the prize and Promoter accepts no responsibility for any damage delay or loss of prize in transit.
- 10. Prize draw will occur as set out in the Particulars.
- 11. 7 days from date of receiving prize provider email, prize must be taken, then if a winner does not take the prize by that stipulated time/date, then the entire prize will be forfeited by the winner and cash will not be awarded in lieu of the prize.
- 12. Winners will be published in the publication specified in the Particulars within 30 days of prize draw or unclaimed prize draw.
- 13. It is a condition of accepting a prize that the winner must comply with all conditions of use of the prize and the prize supplier requirements.
- 14. Promoter's determination of winners is final, and no correspondence will be entered into.
- 15. Promoter reserves the right to request information to verify the validity of entries, including proof of identity and Australian residency status at the nominated prize delivery address.
- 16. Promoter reserves the right to disqualify any entrant for tampering with the entry process or submitting an invalid entry.
- 17. If for any reason this Promotion is not capable of running as planned, including (without limitation) due to infection by computer virus, bugs, tampering, unauthorised intervention, fraud, technical failures or any causes beyond the control of the Promoter, including but not limited to vandalism, power failures, tempests, natural disasters, acts of God, civil unrest, strike, war, act of terrorism, epidemic or pandemic, or public health order, the Promoter reserves the right in its sole discretion to take any action that may be available, and (without limitation) to cancel, terminate, modify or suspend the competition, subject to any direction given under State Regulation.
- 18. If the prize is unavailable, for whatever reason including (without limitation) due to causes beyond the control of the Promoter, including but not limited to natural disasters, acts of God, civil unrest, strike, war, act of terrorism, epidemic or pandemic, or public health order, the Promoter reserves the right to substitute the prize for a prize of equal or greater value, subject to State and Territory legislation. It is a condition of accepting the prize that a winner must comply with all the conditions of use of the prize and prize supplier's requirements. Each prize must be taken as stated and no compensation will be payable if a winner is unable to use the prize as stated.
- 19. Without limiting the previous clause, if the prize includes attendance at an event which is cancelled for any reason beyond the control of the Promoter, including due to pandemic, epidemic, public health order or illness of a performer, the Promoter reserves the right to take action under either of the previous two clauses.
- 20. Promoter is not responsible for any problems or technical malfunction of computer online or wireless systems, servers or providers, computer equipment, software, or technical problems resulting from participation or sending or receiving any communication or materials in this Promotion.
- 21. The Promoter collects information about entrants, including for example their name and contact details which are provided when entering this competition and when registering or using Promoter's services and may also collect information from data houses, social media services, Promoter's affiliates. The Promoter collects and uses that information to run this competition, to provide entrants with Promoter's goods and services, to promote and improve its goods and services, to provide entrants with targeted advertising based on their online activities, for the purposes described in the Promoter may disclose entrants' information to its related companies, including those located outside Australia. Any of those companies may contact entrants for those purposes (including by email and SMS) at any time. The Promoter may also disclose entrants' information to its service and content providers, including those located outside Australia. If entrants do not provide the Promoter with requested information, it may not be able to

provide entrants with the competition goods and services. The Promoter may disclose entrants' personal information to authorities if they are a prize winner or otherwise as required by law. Further information about how the Promoter handles personal information, how entrants can complain about a breach of the Australian Privacy Principles, how the Promoter will deal with a complaint of that nature, how entrants can access or seek correction of their personal information and the Promoter's contact details can be found in the Promoter's Privacy Policy at https://preferences.news.com.au/privacy.